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1x1=
2%1=
3*1=
4x1=
5*1=
6*1=
7*1=
8*1=
O%1=

O 00 NN O U B W N =

1%2= 2
2%2= 4
3%2= 6
4%2= 8
5%2=10
6%2=12
7%x2=14
8x2=16
9%2=18

1*¥3= 3
2*3= 6
3*3= 0
4%3=12
5*%3=15
6*3=18
7*3=21
8*3=24
9x3=27

1*4= 4
2%4= 8
3%4=12
4%4=16
5%4=20
6*4=24
7%4=28
8%4=32
9%4=36

1%*5= 5
2*5=10
3%5=15
4%5=20
5*%5=25
6*%5=30
7%5=35
8*%5=40
9%5=45

1%*6= 6
2*%6=12
3*%6=18
4%6=24
5%6=30
6*%6=36
7%6=42
8*%6=48
0%6=54

1x7= 7
2%7=14
3%x7=21
4%7=28
5%7=35
6%7=42
7%7=49
8%7=56
9%7=63

1%x8= 8
2*8=16
3*%8=24
4%8=32
5*%8=40
6*%8=48
7*8=56
8*8=64
0%x8=72

1%9= 9
2*%9=18
3*x9=27
4*9=36
5%9=45
6*%9=54
7*%9=63
8*9=72
9%9=81
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#include <stdio.h>

int main( ){
printf("1*x1=1");
return 0;
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1*1=11*2=21*3=31*4=41*5=51%6=6 1*/=7 1*8=8 1*9=9

#include <stdio. h>

int main(){
printf("
printf("
printf("
printf("1*4=4 " -
( EEREZE - JFHIREIXRRHE!
printf("1*6=6 "
printf("1*7=7 "
printf("1*8=8 "
printf("1*9=9 "
(*AnM)

)
)
)
)
printf("1*5=5 ")
)
)
)
)

printf
return 0;
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1*1=11*2=21*3=31*4=41*5=51%6=6 1*/=7 1*8=8 1*9=9

#include <stdio. h>

int main(){

int 4
for(i=1;1<=9; i++){ ‘
printf("l*%dz/od ",i,l*i); ?thH%EE\U ’ 1§ @
}
printf("\n");
return 0;
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#include <stdio. h>

int main(){

int i;

for(i=1;1<=9;1++){
printf("1*%d=%d ",1,1*1);

}

printf("\n");

for(i=1;1<=9;1++){
printf("2*%d=%d ",1,2*1);

}

printf("\n");

for(i=1;1<=9;1++){
printf("3*%d=%d ",1,3*1);

}
printf(“\n");
return 0;

I¥1=1 1%¥2=2 1*3=3 1%4=4 1*%5=5 1*6=6 1*7=7 1%#8=8 1*9=9
2*%1= 2 2%2=4 2%3= 6 2*%4=8 2*%5=10 2%6=12 2*7=14 2%*8=16 2*9=18
3*1= 3 3*%2= 6 3%3= 0 3%4=12 3%5=15 3%*6=18 3*7=21 3%*8=24 3%9=27
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#include <stdio. h>

int main(){

int i;

for(i=1;1<=9;1++){
printf("1*%d=%d ",1,1*1);

printf("\n");
L 4 | *: *: *: *: *: *: *: *: *:
for(i=1;1<=9; 1++){ 1¥1= 1 1%2= 2 1*3=3 1%4=4 1%5= 5 1%6= 6 1%7=7 1%8= 8 1%9= 9
2%1= 2 2%2= 4 2%3= 6 2%4= 8 2%5=10 2%6=12 2%7=14 2%8=16 2*9=18
z n noZ I
printf("2*%d=%d ",1,2*1); 3%1= 3 3*2= 6 3%3= O 3%4=12 3%5=15 3%6=18 3*7=21 3%8=24 3%9=27

printf("\n");
for(i=1;1<=9; 1++){
printf("3*%d=%d ",1,3*1);

}
printf(“\n");
return 0;



BRlE—EES , JRAETFEE1,2,3898k

#include <stdio. h>

int main(){

int i;

for(i=1;1<=9; i1++){

printf( "[lksd=%d ", 1,[1k1);
}
printf("\n");
for(i=1;i<=9;[i++){

printf("2k%d=%d ", 1,[2k1);
}
printf("\n");
for(i=1;i<=9;[i++){

printf("Bf%d=%d ", 1,[3k1);

Iy
printf(“\n");
return 0;
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#include <stdio. h>

int main(){
int i1;3;
for(lj=1), i=1;1<=9; i++){
printf("%sd*%d=%d ",j,1,j*1);

}

printf("\n");

for(|j=2|, i=1; i<=9; 1++){
printf("%sd*%d=%d ",j,1,j*1);

}
printf("\n");
return 0;
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1%¥1= 1 1%2= 2 1%3= 3 1%4= 4 1%5= 5 1%6= 6 1%7= 7 1%8= 8 1%9= 9
Zinclude <stdio. h> 2%1= 2 2%2= 4 2%3= 6 2%4= 8 2*5=10 2%6=12 2*7=14 2%8=16 2*9=18
3%1= 3 3%2= 6 3%3= O 3%4=12 3%5=15 3%6=18 3%7=21 3%8=24 3%9=27
4%1= 4 4%2= 8 4%3=12 4%4=16 4*5=20 4%6=24 4*7=28 4%8=32 4*9=36
int main(){ 5%1= 5 5%2=10 5%3=15 5%4=20 5%5=25 5%6=30 5%7=35 5%8=40 5%9=45
_ Wi 6%1= 6 6%2=12 6%3=18 6%4=24 6%5=30 6%6=36 6%7=42 6%8=48 6%9=54
ant 1,9 7%1= 7 7%2=14 7%3=21 7%4=28 7%5=35 7%6=42 7%7=49 7%8=56 7*9=63
£ o= 8%1= 8 8%2=16 B8%3=24 8%4=32 B8%5=40 8%6=48 B8%7=56 8%8=64 B8*9=72
or(j=1;j<=9;j++){ 9%1= O 0%2=18 O%3=27 0%4=36 O%5=45 O%6=54 Ox7=63 0%8=72 9x9=81
for(i=1;1<=9;i++){
printf( "“%sd*%d3%2d| ",j,1,j*1);
=7 \ (Y3 Y Y73 7\E ,%E,“ * T3/ ~‘\ 77
} JRINE R BRI EESIEE - IBREEE
. AY 377 2—5—
printf("\n"); A 30 B 1 H E Y -

BNZE21E - ERHSIRE TEIMNBEEBRIAETRE(j<=9) - EAR
return 0; BAEBTE  EENT  BEEREATIHHK
) E5N2EE -



